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Assume we have a network consisting of twelve nodes (labeled A-L, in no particular order).  Each node sends out packets that can only travel a single hop.  The nodes then respond to these packets.  This process helps a router to identify its nearest neighbors and the “cost” to them.  

	Node
	Neighbor (Cost)
	Neighbor (Cost)
	Neighbor (Cost)
	Neighbor (Cost)

	A
	H (10)
	L (3)
	
	

	B
	E (4)
	G (8)
	I (6)
	

	C
	D (6)
	H (4)
	I (7) 
	

	D
	C (6)
	F (3)
	
	

	E
	B (4)
	F (5)
	
	

	F
	D (3)
	E (5)
	I (1)
	

	G
	B (8)
	J (1)
	K (9)
	

	H
	A (10)
	C (4)
	J (7)
	

	I
	B (6)
	C (7)
	F (1)
	J (9)

	J
	G (1)
	H (7)
	I (9)
	L (10)

	K
	G (9)
	L (8)
	
	

	L
	A (3)
	J (10)
	K (8)
	


From the nearest neighbor information, construct a graph corresponding to the network. From the cost information, find the least costly path starting at node A to each of the other nodes.  Use Dijkstra’s algorithm as demonstrated on the slide show.  

